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Note: Answer FIVE full questions, selecting $ff*ast TWO qaestionqfro* each part.
\%#%- - ****PAffiryenA I;, rry

I a. What are the advantages of stokegfiriryover pulverized syste-mdf firing? With a neat

ercczffi

PAffiryenA
g. firffi over

sketch, explain the woriing of a sjgfu#etirt stot<ir. ,,.' * (10 Marks)

b. Sketch and explain the working5ffidirect and a central sy$Hffif feeding pulverized fuel to
the furnace. Mention at leasilh|ffiFdvantages and disadvantffi$ each. (10 Marks)
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2 a. Draw a general 1ayout.S6,@ tish and dust handlirlg_system used in modern power palnts.
With a schematic skeffiffihin the working of pryffimatic ash handling system. (10 Marks)

b. Draw a neat sketch o%ffienson Boiler showing'€{Ebrly different heat transfer sections and
explain its workrffi#st out any five advantqegoffered by this boiler. (10 Marks)explain its workrffi#st out any five advantqegoffered by this boiler. (10 Marks)

3 a. Starting froH ffidbmentals, derive an edh#Bsion to determine chimney draught in terms of
water columri{lr mm of water. (09 Marks)

b. A chiffi{vY}8 m high and the.tpmSerature of gases inside the chimney is 320"C. The
of outside air is 23" furnace is suppliffiith 15 kg of airlkg of coal burnt.

CalifiTffi& the draught in mm o and in m of hot
c. Sketch and explain the workipstf a hyperboli

00 m, with an overall
'. (10 Marks)

twoadvantages. _\ ;r"ru,n r-*n
\\WW-P

JFi*i\. * *l wd: t":- ". . -E {.*-l*/a. With relevant sketch, ffi'tirin the following',gngih; starting methods used for a diesel engine,
(i) Compressed air system. .* *: ' ' ,ffi****
(ii) ElecfiOstarting. * **'};*. f,-*:y (10 Marks)(i, Elec.ffiffiarting. *"*u';*' dkdk (10 Marks)

b. Explain the wffig of a Diesel enffiffiaust system (05 Marks)
c. With the he$&6 bbck diagram, ftffidin the working o$an indirect closed cycle gas turbinewltn tne nelp otra DlocK olagrarn"'qdp*am tne worKulg oran rnorefi croseo cycle gas rurDme

plant. ,*h (05 Marks)

"ke;s.- *'s*' +*;.'F

w $ *'t*.l- ]M* *
t"d ro, understan&ffiIrdrosr;;Im$ u t''a. What t16 you understarffiffiIydrograph'!'eqaw a typical hydrograph and mention any five

^trseful information avarla[& from hydroffi'"* (05 Marks)

hffie run-offdata offier at a particutaffid are tabulated below. The discharge given is in
wffifrrittions of cubiffireff and eacli montfuisissumed on an average has 30 days.

a. What db you understat
qisehl information ava

(, D;gy*ffhY
(i') ,ffiq%mine

":,€H€ratton

lrograph anffiw duration curye.
the powg[*[p"MW if the head available is l(
efficienc"i'b{90%. Assume mean flow ofwater.
Monthfl Discharee Month Discharse
Jana&v 45 Julv 75

ffisb?irarv 30 August 120

March 20 September 115

April 15 October 80

Mav 0 November 7A

June 60 December 50
c. Sketch aq| dnlain the working of a pumped storage plant.

r'-#'' l of 2

(05 Marks)
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6a.

b.

c.

7a.

8a.

b.
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With a schematic diagram, explain the working of a pressuaiaed water reactor and mention

any two advantages and disadvantages of it. --e*ffi' (10 Marks)

Define the following : -e*-#Ile tne Ioilowrng : ids

(r) Multiplication factor - trffitiO Thermal utilization factor. M,e" (04 Marks)

Expiain briefly wastes associated with nuclearffiq;\ffir plants. (06 Marks)

"W

(iii) Diversity factor

(12 Marks)

Define the following terms:
(r) Demand factor
(il) Load factor
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ls
d.

qdgi$"&

rn. pJ"t to"J;;;*ffitffi, is 35 MW. The lEfufaving maximum demands of ls, 10,

5 and 7 MW are con44q6,mo the power station. 'rle,* "reapacity of the power station is 40 MW

and annual load facffi 50 percent. Find (i)"*@re average load on the power station

(ii) Energy supplffiyear (iii) Demand f4gtofl (iv) Diversity factor. (08 Marks)(ii) Energy SuffiVear (iu) Dt

What do yotr,urffierstand bY Tariff?
and blocsffir rate with.e1anhi91l"and blockfnpttlr rate wtth graphlca
The loa'&qdeffi"and for an industrial
una A*kvflfor 8 hr/day. Assumffi
part iiiffiis Rs.100/k1Y + 10 puiffi
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